2 RPN
e ) —n— Multiplicera decimaler med tiomakter

namn: Datum: Poing:
5,038 x 1000 = 7,511 x 10000 =
1,558 x 100 = 7,452 x 1000 =
9,745 x 1000000 = 3,717 x 100000 =
5,227 x 100 = 3,489 x 10000 =
1,834 x 100 = 2,067 x 10 =
8,71 x 1000000 = 3,352 x 100000 =
2,404 x 1000 = 3,284 x 1000 =
8,96 x 1000000 = 6,338 x 1000 =
6,307 x 100000 = 1,228 x 100 =
2,72 % 100 = 5,292 x 1000000 =
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2 L L o
e ) _n_ Multiplicera decimaler med tiomakter

namn: Datum: Poiing:
5,038 x 1000 = 5038 7,511 x 10000 = 75110
1,558 x 100 = 155.8 7,452 x 1000 = 7452
9,745 x 1000000 = 9745000 3,717 x 100000 = 371700
5,227 x 100 = 522.7 3,489 x 10000 = 34890
1,834 x 100 = 183.4 2,067 x 10 =20.67
8,71 x 1000000 = 8710000 3,352 x 100000 = 335200
2,404 x 1000 = 2404 3,284 x 1000 = 3284
8, 96 x 1000000 = 8960000 6,338 x 1000 = 6338
6, 307 x 100000 = 630700 1,228 x 100 = 122.8
2,72 x 100 =272 5,292 x 1000000 = 5292000
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